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  152   Štúrovo - Levice a späť 
km

  
 Vlak  5901 

  
 
 

 5903 
  

 
 

 5907 
  

 
 

 5919 
  

 
 

 5923 
  

 
 

 5931 
  

 
 

  Zo stanice             
0 Štúrovo 130  3 45   5 26   7 20   13 23   15 23   19 23  
7 Kamenný Most nad Hronom   3 53   5 34   7 28   13 31   15 31   19 31  

12 Kamenín   3 58   5 39   7 33   13 36   15 36   19 36  
15 Bíňa   4 03   5 44   7 38   13 41   15 41   19 41  
17 Bíňa zastávka                    
20 Čata 153   4 08   5 50   7 44   13 47   15 47   19 47  

 Čata 153  4 11   5 55   7 45   13 53   15 53   19 53  
22 Pohronský Ruskov   4 15   5 59   7 49   13 57   15 57   19 57  
26 Hronovce   4 20   6 04   7 53   14 02   16 02   20 02  
30 Želiezovce   4 36   6 09   7 59   14 08   16 08   20 08  
39 Tekovské Lužany   4 45   6 18   8 08   14 17   16 17   20 17  
45 Tekovský Hrádok   4 52   6 25   8 14   14 23   16 23   20 23  
47 Dolná Seč   4 55   6 28   8 17   14 26   16 26   20 26  
52 Levice 150   5 01   6 34   8 23   14 32   16 32   20 32  

  Do stanice             
              km

  
 Vlak   5900 

  
 

  5902 
  
 

  5906 
  
 

  5918 
  
 

  5922 
  
 

  5930 
  
 

  Zo stanice    Šahy         
0 Levice 150   4 09     7 02   13 11   15 11   19 11 
5 Dolná Seč    4 14     7 07   13 16   15 16   19 16 
7 Tekovský Hrádok    4 18     7 11   13 20   15 20   19 20 

13 Tekovské Lužany    4 25     7 18   13 27   15 27   19 27 
22 Želiezovce    4 35     7 27   13 36   15 36   19 36 
26 Hronovce    4 40     7 32   13 41   15 41   19 41 
30 Pohronský Ruskov    4 44     7 37   13 46   15 46   19 46 
32 Čata 153    4 48   5 53   7 41   13 50   15 50   19 50 

 Čata 153   4 49   5 54   7 47   13 51   15 51   19 56 
35 Bíňa zastávka                    
37 Bíňa    4 55   5 59   7 53   13 57   15 57   20 02 
40 Kamenín    5 00   6 04   7 58   14 02   16 02   20 07 
45 Kamenný Most nad Hronom    5 05   6 10   8 03   14 07   16 07   20 12 
52 Štúrovo 130    5 14   6 18   8 12   14 16   16 16   20 21 

  Do stanice             

 

1
5
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